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- Assignment es——

Complete pgs. 258 - 260

Questions 3, 6ac, 7, 9ab, 10,
13, 16, 18, 19
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3. EXP\am what must be true about the
raph of +he correspondin \%-‘FU\’\C"‘IOD
or a quadratic equation “to have

No real roots.

For a quadratic equation to have no
real rocts, i1ts LorreSDoﬁd\nq qraph
must open quord and have“a vertex
Qbove the x-axis ocr open downward
and hoave a vertex below the x-axis.

6. Factor.
QNL‘E‘XZ—’l?)x + 9 ¥ -9 =
(% —ft_MX—iJ __H +=9=-13
-_+
(x-—s)(&%x <)

) Iv+)* + 10 v+ )+
let r=v+l

A+ 10¢ + 1 B xd =2]
f’r+3 yiréﬂ _.‘_’;+_1,=- 1O

(r+1) 1)
‘::I--" ! 'E"'S%rg‘;'% LJ+‘—,]
v+2)(3ve3+1)

(v +2)(3v+10)
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1. Solve b\; -(:oc'ﬁ*or;'mg.

Q)O Ox+21 A5 %A= 2]
(x+:’> (x+7) 3+ 1.=10

X+3=0Qorx+1=0
X ==-3 X==7]

B L m*+2m=-5=0 G4=>x4)

L.|..
1L (mM*+8m=-20)=0 10x22=-20
| 10 +-2, =%
,L_(mﬂ—ao)(m-zﬁo
M+ 10=0 or m-2=0
m=-10 m=2
c) SD + % 15 X212 =-30
p-HS (p 2 O 8 +22 =13
(P+3>(5p 2)=0
p+3=0 or SP D=0
p=-3 =2
)
= 2
P S
d) O= Gz*-21z+9
R 3(222 -]z +3) * Remove Qmmon Factor Fiest
0=3@-6Xz-1) e w= =
2 o e+l =-77
O =3(z-3)(22-1)
Z-3=0 or 2z=-1=0
z=3 LZ= 1
zZ 2
Z=_1
-3
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A Write o c:Luclcﬁ rat’c €quation n
Standard “form with Fhe Siven
roots

Q) 2 and 3

Ly (x=-2)x-3)=0 % Opposite ‘S(Sﬁs
%> =3X-2X + =0 '
X*=-3X+6 =0

b=l and -5
L> (X+M(X+5)=O X Opposite ‘*\S\Sﬁs

X2 +85X+|x+5=0
X*+ 6X+35=0
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10. The path of a paper airplane can
be modelled approximately bgi The
function ht) = -_Z}Lt’*-*rt +3, ‘Where h

IS The height above +he around, in
meters, and t Is +he +if¥e of ﬁa‘q‘n%,
in Seconds . Determine how longv
1T takKes for the paper airplary
+o hit+ the ground, ht)=0.

-1+t +3=0

L'l'

~ 1 (&*-4t-12)=0

% -
-1 (e+2)(t-6)=0

.L_i.
t+2=0 or t-6=0
t;-Z t=06
EX‘!'ﬁggﬁ_ouS

T+ taKes 68 for the paper airplane
o bt +he ground. ‘
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13. Determine +he value of K that
makKes each expression a perfect
SC(JuCAre +rinomual.

a) X* +4x + K b) %*+3x+ K
(3 o (3
"‘U f’t‘
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lb. Th a simulation, the path of a new
aiccraft offer i+ has achieved
Wm@h-‘r\essncss can be modelled
Gpp ommo+e z h(+) =-St2 +200++9750,
where his +1+ude of the
errcmﬁ- in mc+crs and £ s +he
me m Scccmds ’and We\S‘n-‘r essness
1S achieved. How long does” +he
grccraft -"ro‘ﬁc 1o reduern Yo the
8round h(r)=07? EXpress your answer
1o +héE nearest tenth of ‘a Second.

Ly -S§t*+2001+9750=0
-5(&*- 40t —1950)=

a=1,b=-40,and c =-1950

—b++/b* —4ac

[ =
2a

40+ ,/(—40)2 — 4(1)(—1950)
- 2(1)
_ 40 £ V1600 + 7800
B 2
40 + V9400
N 2

— /9400 40 + /9400

t = > or t= >

t=-285 or t =68.5

EXx+rancous
Root

The er-cro?* takes approximately
6‘?5 5s to return to the qround
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1I8. Use -‘-he mscr'mman"ﬁ‘ "r(:; determine
‘he no -ure Of +he coots for ﬁ:&c:h

_C;E\m@m He equation. Do not solve
e equatioft.
a) 2x*+1Ix+3=0 a=2,b=1l,c=5

D=b*-Hac

= AN=502)5)
-“-m 40

—
—_—

Since :D>O, +there are 2, real roots.
B) A4uE-Hx+1=0 o=4. b=-H c=1

D= br4qgc
(4)*-4()(2)
le—-16

gl

O

Since D=0, +here is one real root

@) 3p*+ 6p +24=0 a=3,b=6, c=4

b*~4a

(6)?- L%@)uuf)
36— 2.8%

= —052

—
1 —
—
—
—

Since D<O, there are no real roots.
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d) Lﬂ'Xl-‘.—’*}X—_]:O Q:‘-{)b:l—},c-_fh"}

= 3 raC

= (Uyr 204
= | +11l2

= 12%

Since :D>Q) +here are 2 real roots.

19. Use t+he quadratic formula to
determing the voots for each

qﬁodmﬂc equation . Xpress your
afhswers as €xact values.

a) ~3X*-2x+3=0 a=-3,b=-2,c=5

=-pbt B> Hqac
2q
= 2.F (2241 E3)S)
S (-3)
= 2.1 N4 +6Q
= 2 et
= 2% %
—b
X= 2% Qr X=2+4%K
—b ()
X= —o x= 10
6 <6
X=1 xX==3
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b) 8%*+7x+1=0 a=5,b=7,c=1

x=-bt{bE-Hac

X=-1% (2‘!)"_—)%(5_&;)

X==""1xXJ49-20

TeNRE
x=:~i:;Q23

Te

C) S%>-4x-1=0

X=-biy b?—:}_gc"
X=4t

%_'—l)"‘*KB)Zl}
x= 4t Jlc+\2
49:@

d)25%x*+90%x +81=0 a=25, b=90,C=81
X=-bI{p*-Hac

pi

% = -0 E 9IS R D
oNas)

x==90% {§106 = 100

_5Q
A=—0 LIS
50
x= —9Q

=t} 0
X=7
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